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USN 17MAT31
Third Semester B.E. Degree Examinationi"'ljec.ZOI9/Jan.2020
Engineering Mathematics - Il
Time: 3 hrs. " Max. Marks: 100

Note: Answer any FIVE full questions, choosing ONE full question from each module.

Module-1
Find the Fourier series expansion of fix) = x — x° in (—m, m), hence deduce that
7t—1=L—~1—+L—l+———'—-.i“ (08 Marks)
12 17 22 3 4 :
Find the half range cosine series for the function fix)=(x- 1)’ in0<x<1. (06 Marks)

Express y as a Fourier series upto first harmonics given :

x | 0 [60°]120°]180° [ 240° [ 300°
y [79172136 [ 0509 68

(06 Marks)
. OR
Obtain the Fourier series for the function :
1 +4Tx in §<xs 0%,
e e 3
l-— in0<x<—
3 A 2
T T
Hence deduce that = e A (08 Marks)
B 8 1" 3° 5 .
X in O0<x<™®
It £(x) = _ A
m—X in % <X <MTH
Show that the half range sine series as
41 . sin 3x sin 5x
f(x)= ; sin x __32__. By = === (06 Marks)
Obtain the Fourier series upto first harmonics given :
X[O%.1 | 2]3[4]|]5]6
yi{9- 18 |24 |28 (26|20( 9
(06 Marks)
Module-2
Find the complex Fouriertransform of the function :
1 fi <a si
fix)= or |x]<g and hence evaluate ISln X dx. (08 Marks)
0 for |x{>a 8 X
Find the Fourier cosine transform of e™. (06 Marks)
Solve by using z — transforms up+> — 4u, = 0 given that up =0 and u; = 2. (06 Marks)
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OR
Find the Fourier sine and Cosine transforms of : ,
x 0O<x<2
)= . + 7S (08 Marks)
0 elsewhere
Find the Z — transform of : i) n” if) ne ™", (06 Marks)
7 L
Obtain the inverse Z — transform of —gz—i (06 Marks)
(z+2)(z—-4)
Module-3

);V,Li‘f"?’éi 215 |8 [ 170[13]15
yé86108121616103232

(08 Marks)
Fit a parabola y = ax’4 bx + ¢ in the least square sense for the data :
x | 1 [<N 31415
y | 108 v%12 131619
(06 Marks)
Find the root of the equation xe* ~ cosx = 0 by Regula — Falsi method correct to three
decimal places in (0, 1). : ( (06 Marks)
OR
If8x — 10y + 66 = 0 and 40x — 18y = 214 are the two regression lmes find the mean of x’s,
mean of y’s and the co- efﬂclent of correlatlon Find oy if 6x = 3. h (08 Marks)
Fit an exponential curve of the form y = ae™ by the method oﬁ least squares for the data :
No. of petals 2 |.6 | 7T L8 9710
No. ofﬂowcrs 133 | 55 | 23.[ 2| 2
(06 Marks)
Using Newton—Raphson method, ﬁnd the root that lles near x = 4.5 of the equation tanx = x
correct to four decimal places. (06 Marks)
.~ Module-4
. From the following table find the number. of students who have obtained marks :
1) less than 45 ii) between 40 and 45.
Marks . 30-40 ) 40-50 | 50-60 | 60—-70 | 7080
No.. ofstudents 3 42 51 35 31
(06 Marks)

Using Newton s dmded dlfference formula construct an interpolating polynomial for the
following data :

¥S[4] 5 7 [10] 11 | 13
fx) |48 100 | 294 | 900 | 1210 | 2028

and hence ﬁnd f(8) ' (08 Marks)

Evaluate 0"‘ ———takmg seven ordinates by applying Simpson’s %" rule. (06 Marks)
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OR
In a table given below, the values of y are consecutive terms of a series of which 23.6 is the
6" term. Find the first and tenth terms of the series by Newton’s formulas.

x | 3] 4 5 €& 7 8 9
y |48 ]84 14.5 ”23.6 36.2.152.8 | 73. 9
""" (08 Marks)
Fit an interpolating polynomial ofthe form x = f(y) for data and henee find x(5) given :
i [2]10([17
y|l1[3 ] 4
B (06 Marks)
0.6
Use Simpson’s %rd rule to find 0[ ¢ dx by taking 6 sub-intervals. (06 Marks)
Module-5
Verify Green’s theorem in the plane for ¢c(3x — 8y")dx + (4y — 6xy)dy where C is the
closed curve bounded by y = Jx and y & x (08 Marks)

Evaluate nydx +xy’dy by Stoke’s theorem where C is the square in the x — y plane with
C

vertices (1, 0)(—1, 0)(0, 1)(0, —1) (06 Marks)

Prove that Catenary is the curve which when rotated about a line generates a surface of

minimum area. (06 Marks)
OR%.

If F=2xyt+ yz© i|'\+xz[2and S is the rectangular arallelepiped bounded by x = 0, y = 0,
Y g P y

z=0, x=2,y=l,z= 3evaluattei;. fn ds- (08 Marks)

Derive Eu’ler s equation in the standard form viz i—il:—ai} 0. (06 Marks)

dx | oy’

Find the external of the’ functional 1= (S/z—y” —2ysin x)dx under the end conditions

y(0) = y(n/2) = 0. 4 (06 Marks)

* ok k¥ %
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50, will be treated as malpractice.

Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2

USN ‘ 17EE32

Third Semester B.E. Degree Examinatioij} Dec.2019/Jan.2020
Electric Circuit Analysis

Time: 3 hrs. Max. Marks: 100
Note: Answer any FIVE full questions, choosing ONE full question Jrom each module.
Module-1
1 a. Derive the expression for Delta-startransformation. (06 Marks)
b. Using source transformation, ﬁnd the power delivered by S0V.source shown in Fig.Q.1(b).
! (06 Marks)
3n
lov

Fig.Q. l(b)

c¢. Find the voltage a/c 20Q) resistor in the network shown in Fig.Q.1(c). (08 Marks)
lod loa lon
v = 1oy
20n._ %,
Fig.Q.1(c)
OR

20N Determme the equwalent resistance between the terminals AB for the network shown in
Fig.Q.2(a). %/ : (06 Marks)

" Fig.Q.2(a)
b. Find the node voltages V;, Vz and Vj; in the circuit shown in Fig.Q.2(b) using nodal analysis.
, (08 Marks)

Fig.Q.2(b)
€. Draw the dual of the network shown in Fig.Q.2(c). (06 Marks)

Ry PN
N ) ﬁ La =t ‘3 (&% T VJ_
Fig.Q.2(c)
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Module-2 ~
State and explain superposition theorem. N d (06 Marks)
For the circuit shown in Fig.Q.3(b) obtain Thevmms equivalent circuit as seen from
terminals p-q. , o'y (08 Marks)
2K KN 0
e
AN A
&
A
Fit lg Q 3(b) NNNNN

Find the voltage ‘V,’ and apply reciprocity theorem to the networks shown in Fig.Q.3(c).

(06 Marks)
v T =lole” o
i Sa i o
- Yy
=z i
Fig.Q.3(¢)=
B OR

State and explam Norton’s theorem. (06 Marks)

Find the current I, in the circuit shown in'Fig.Q.4(b) by applying superposition theorem.
(08 Marks)

R0V
Fig. Q.4(b)
Find the current through 162 resistance usmg ‘Morton’s theorem for Fig.Q.4(c) (06 Marks)

o ) Module-3"
Show that in series resonant circuit the resonant frequency is equal to the geometric mean of
half power frequencies. (06 Marks)
¢ A circuit shown in Fig.Q.5(b), the switch “K’ is changed from position 1 to 2 at t = 0. The
steady state haV"ing reached /before closing the switch. Find the values of

i(v),

2.
dl(t) d %adlt(t) att=0" (08 Marks)

Kgpa

HE
| % 7

Fig.Q.5(b)
A series RLC CerLllt has R =20, L. = 2mH and C = 10uF. Calculate Q factor, bandwidth,
resonant frequency and half power frequencies. (06 Marks)
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OR
Show that a parallel resonant circuit will resonate for all frequencies when R, =R . = \/%?
) (06 Marks)

In the circuit shown in Fig.Q.6(b) initially switch ‘K’ is kept open for long time. At t = 0,
switch K is closed. Obtain the expression for current in the circuit for t > 0.

SN V
+ Fig.Q.6(b) (06 Marks)
Find the value of R; such that the eircuit shown in Fig.Q.6(¢) is resonant.

R to n—
JE s L )i
Fig.Q.6k(c) (08 Marks)
Module-4
Find the inverse Laplace transform of the following:
R T e Tl if) F(s) =2 _2)3 (06 Marks)
s(s+3)(s+4) % S(s+1) %
State and prove initial value and final value theorem. ; (08 Marks)
Obtain the Laplace transform of the gate function shown in Fig.Q.7(c) (06 Marks)
)
Fig.Q.7(c)
L% "OR :
Using Laplace transform determine the current in circuit shown in Fig.Q.8(a) when switch
K is closed at t = 0. Assume zero initial condition. (06 Marks)
: PE. N
,.:X___ 2 % I
voou bl (W = e
‘ Fig.Q.8(a)
Find the Laplace transform of periodic functions shown in Fig.Q.8(b) (08 Marks)
4o
E m
W N P AN ol .:t
' Fig.Q.8(b)
Find initial value and final value of the following equations:
3 2 4
i) F(s)=— 4S5 i Bgy=22 T DeEY (06 Marks)
s(s” +3s” +4s+2) (s+1)(s+6)
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Module-5
An unbalanced 3-phase, 4-wire star connected load has balanced voltages of 208V, with
ABC phase sequence. Calculate the line currents and neutral current.

Z, =10Q; Z,=15]30Q; Z.=10-30'Qs £% (06 Marks)

Derive Z-parameters interms of y and h- parametqrs _ V (08 Marks)

Find Y-parameters for the network shown in Flg Q.9(c) (06 Marks)
b -

Fig.Q‘.9(c)

gl i OR P
Determine the line currefits] and total power Supplied to a delta connected load of

w=lojQ, z, =20 gor o, z, —25]&’9 ‘Assume 3-phase 400V, ABC sequence.

L g (06 Marks)
Fig.Q.100) <N (08 Marks)
Define Z-parameters and Y-parameters and write Eé:qiiiﬂ\”falent circuits,< (06 Marks)

* ok ok k k@
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Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

CBESGHENE

USN 17EE34
Third Semester B.E. Degree Examination, June/July 2019
Analog Electronic Circuits
Time: 3 hrs. “Max. Marks: 100

Note: Answer any FI VE Sull questions, choosing
ONE full question from each module.
Module-1
1 With a neat circuit diagram, explain Emitter stablllzed bias circuit, write the necessary
equation. (08 Marks)
Determine output VOltage for the followmg circuit in Fig.Q.(b). Assume f = 1000Hz and
ideal diode. (06 Marks)
‘_ C= ¢ +
1 A 100 ka
: V
&l Vi T :
B VT[SV
“Fig.Q.1(b)
Derive the expression for stablllty factors of fixed bias cu‘cmt with respect to Ico, Vi, B and
draw the circuit diagram. b (06 Marks)
OR
2 Explain the circuit of a transistor switch being'used as an inverter. (06 Marks)

Determine the voltage Vcr and the current.le for the voltage divider configuration Given:
=39KQ, R> = 3.9KQ, R¢ = 10KQ, Rg= 1.5KQ, Cg = 50uF, B = 100, Vgg = 0.7.

(08 Marks)
Sketch the output waveform for the network shown in Fig.Q.2(c). If the peak value of the a.c
input if 15V.and draw the transfetr. characteristics. (06 Marks)

> =

Fig.Q.2(c)
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Module-2
3 a Wlth a neat circuit diagram, derive an expression for ZWZ0 and A, of fixed bias circuit using
— model. (08 Marks)
b. For the Emitter follower network shown in Fig.Q. 3(b) Determine re, Zi, Zo and A,.

(06 Marks)

FigQ3®)

c. Prove that Millereffect of input capacita;&e Cmi = (1-A,)C¢ and output capacitance
¢ 7% i
C.. =|1-=%—1C.. (06 Marks)
Mo ( y Av] f
e OR
4 a. Forthe following circuit determine Z;, Zo, Ay, Aj hg= -O 99 hip = 14. 3Q (08 Marks)
h 4 'kob =Mbi$uklu
e
2ka
y - VO
+| lov ¢
Fig.Q.4(a)
b. What are the advantages of h-parameters? < . (06 Marks)
¢..“Define h-parameters. and obtain h-parameter equivalent circuit of CE configuration.
(06 Marks)
$ “Module-3
5 a. Obtain expressnon for voltage gam -current gain, input and output impedance of a Darlington
Emitter follower circuit. Draw necessary equwalent circuit. (12 Marks)
b. With a neat block dlagram, obtain expression for Zir and Zy for voltage series feedback
amplifier. (08 Marks)
OR
6 a. Explain the general characteristics of negative feedback amplifier. (08 Marks)

b. Explain the need of cascading amplifier. A given amplifier arrangement has the following
gams Av; = 10,.Av, = 20 and Av; = 40. Calculate overall voltage gain and total voltage
gain in dB. (06 Marks)

c. With a simple block diagram, explain the concept of feedback amplifier. (06 Marks)
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Module-4 :
With a neat circuit diagram, explain the operation ofa class B push pull power amplifier and
maximum conversion efficiency is 78.5%. (08 Marks)
With a neat circuit diagram, explain the operatlon of RC-phase shift oscillator using BJT and
write fos equation. (06 Marks)
A series fed class A amplifier as shown in Fng 7(c). Operates from” a DC source and
applied sinusoidal input signal generates peak base current 9mA Calculate Icq, Vceq: Pac,
P, and efficiency. (06 Marks)

VCL =t20V
PN .

B=50
\}W,*-:-4 .——g Vee = 07v

Co_

P lp—
——

< FigQ7(c)
~ OR

The frequency selective circuit arms of wein bridge oscnl]ator uses Gy = C; = 0.001pF,
R, = 10KQ while R; is keptivariable. The frequency is to be varied from.10Hz to 50kHz by

varying R». Find the range.of R,. (06 Marks)
With a neat circuit diagram, explam the operatton of a transformer coupled class A power
amplifier and prove that conversion efficiency is 50%. : (08 Marks)
With a neat circuit diagram, explain the w0rkmg principle of crystal oscillator in series
resonant mode. -y (06 Marks)
Module-5
Explain the operation of JFET-amplifier using fixed bias. Draw the JFET small signal model
and derive the expression forZ;, Z,and A,. (06 Marks)
Explain the constructiony workmg and characteristics of n-channel enhancement type
MOSFET. (08 Marks)

. Determine the followmg for network shownin Fig.Q.9(c) Vgsq, Vs, Vs, Vg, Vb. (06 Marks)

L] 420y
'%z-gk# Gpg = 2-6MA

p Apec = BmA
s o = ok

Fig.Q.9(c)
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OR
10 a. Compare FET over BIT. (06 Marks)
b. With a neat diagrams, Explain the construction, work'mg and characteristics of n-JFET’s.
(08 Marks)
c. Design the fixed bias network as shown in F‘lg Q.10(c) having an a.c. gain of 10. Determine
the value of Rp. &9 (06 Marks)
1 Voo = 430v
—
Jlp =~
" Yoo = SLolus
> A
Fig.Q.10(c)
Py = ** * %k
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50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

CBCSIGHENE

USN 17MATDIP31
Third Semester B.E. Degree Examination, Dec.2019/Jan.2020
Additional Mathematics - |

Time: 3 hrs. &= Max. Marks: 100
Note: Answer any FIVE full questions, choosiiig-bNE Sfull question fr_o";ig. each module.
Module-1 ~l
1 Find the modulus and amplitude of ~=
. (07 Marks)
2+i
4 2n
[f x = cosO + isin0O, then show that xzn : =itann0 (07 Marks)
X"+
I Al . . 5
Simplify (cos30 +.1 s'lr} ,’59)3 (cos40 +.1 s.m 4(—))_4 (06 Marks)
(cos40 + isin 40)"(cos 50 + isin 50)
OR "
2 Find the sine of the angle between A=21% 2]’ —k and B=6i- 3] +2k. (07 Marks)
Find the value of %, so that the vectors a = 2i — 3}+ k, Ez i+ 2] —3k and c=i+Ak
are coplanar. (07 Marks)
Prove that 5x(ExE)+Bx(Ex5)+cx(axE)=0. / (06 Marks)
1 Modu]e-zw m
3 Find the n" derivative of ™ cos(bx +¢c). N ° (07 Marks)
If y=acos(log x) + bsin(log x) prove that x’y, ., +(2n+Dxy,,, +(n’ +1)y =0.
‘ 74 (07 Marks)
A -
[f u=sin" b, ¥ . prove that x~aﬂ + y@ =tanu. (06 Marks)
X+y wox " oy
OR :
4 Find the pedal equation.ofit” = a" cos n0. ‘ (07 Marks)
Expand loge(1 + x) in ascending powers of X"“as for as the term containing x*. (07 Marks)
If x =r cos0, y =rsin@, find M (06 Marks)
| 3(r,0)
~~Module-3
k. ¥ "
5 Evaluate II(I +xy’)dx dy (07 Marks)
0y?
Evaluate Isin"’ X co:g6 x dx (07 Marks)
0
2 x-l
Evaluate I —dx (06 Marks)
0 4-x°
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OR

24 .

Evaluate Ij(xy + e”)dydx » (07 Marks)
13

Evaluate Ixsins x dx /o (07 Marks)
0 i
3 a1 ” ®

Evaluate I j J‘(x2 +y? +z%)dxdydz (06 Marks)
10 - e

" %@ odule-4
If particle moves on the curvelx = 2t°, y=1" - 4, z= 3t—- 5 where t is the time. Find the

velocity and acceleration at = g (07 Marks)
Find the angle between the tangents to the curve r=t’ i+2t] j=t k at the pointt == 1.
L (07 Marks)
If F=(3x"y~- z)I-l-(st 4 yt)i-2x°2 k find g(ad(div F)at (2,1, 0). (06 Marks)
OR
Find the dlrecuonai derivative of ¢ = 4xz 3x2yzz at (2, -1, 2) along 2i-3j j+ 6k
- (07 Marks)
Find the umt normal to the surface xzy +2xz=4 at (2,2 ) (07 Marks)

Show that F = 2xy” + yz)1 + (2x V+XZ + 2yz’ )_]+ (Zy z% xy)k is irrotational. (06 Marks)

Nl()dule-Sw Y
dy _ . e S S
Solve i =sin(x + y) &g o, ¢ (07 Marks)
X 4 Ty o
dy : b
Solve d_ + ycotx.=cosx e 7 . (07 Marks)
Solve (x — y + l)dy (x+y-— l)d&ﬁ.il é (06 Marks)
\ S OR
Solveﬁﬁgﬁg; e’ )dx +e* ”[L;’- E-de =il). (07 Marks)
4 s y 4
'Solve (x3 cos’ y — xsin 2y) dx =dy. " (07 Marks)
¢ Solve (3x2y4 - ny)dx + (Zx"y3 - xz)dy =) (06 Marks)

Tk ok ok ok ok
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USN M Qilestion Paper Version : A

VKT #

Third/Fourth Semester B.E. Degree Examination, Dec.2019/Jan.2020
Constitution of India, Professional Ethics & Human Rights

(COMMON TO.ALL BRANCHES)

Time: 2 hrs.] V [Max. Marks: 30

INSTRUCTIONS TO THE CANDIDATES

1. Answer all the thirty queétions, each question carries ONE mark.

2. Use only Black ball poini pen for writing / darkening the circles.

3. For each question, after selecting your answer, darken the appropriate circle
corresponding to the same question nu_fn’ber on the OMR sheet.

4. Darkening two circles for the same question makes the answer invalid.

5. Damaging/overwriting, using whiteners on the: OMR sheets are strictly

prohibited.

1. The *‘Government’, it meant a body that,

a) Makes law b) Implements laws made
¢) Interprets the laws . "Carrying all these functions
2: Which one of the following is a features common to both the Indian Federation and the
American Federation. _
A single citizenship ~b) A federal supremecourt to interprete the constitution
¢) Three lists in the constitution d) Dual judiciary

3. The preamble in the constitution of independent India is modified version of which of the
following :
a) Bill of Rights in USA b) British MagnaCarta
_¢)” Objectives resolution moved by Jawaharlal Nehru  d) Ideals of communism

4.  Inthe Indian constitution, the Right to Equality is granted by,

a) Article 16 =20 ; byArticle 15-19
¢) Article 14 —18 . d) Article 13 —-17
S, Uniform civil code is one of the,
a) Fundamental rights b) Directive principle of state policies
Fundamental duties d) None of these

-Al-
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6. Concept of fundamental duties copied from which country’s constitution,

a) USSR by USA
¢) UK d) JAPAN
7.  Who is said to be an integral part of the Union Leéiéia*ture (Parliament)?
a) Speaker of LokSabha b) Chairman of Rajya Sabha
_e)yPresident d). Prime Minister .

8.  With reference to Vice-President, consider the following statements:
i) The removal proceedings of Vice-President can be begin in lower house of parliament.
ii) There is no specific provision=in the Indian constitution regarding election of Vice-

President. =
Which of the statements given isfare correct?
a) (i) only L b) (ii) only
ey Both (i) and (ii) d) Neither (i) nor (ii).

The Supreme court of India tenders advice to the President on a matter of law or fact.
n its own initiative 'b) Only if he seeks such advice

¢) Only if the matter relates to the extent of powers of the Union

d) Only if the issue relates to international treaty or agreement

=

10. Consider the following statements:,
i) The oath of Governor is conducted by the Chief Ministerof the respective state.
ii) The constitution does not fix any tenure for the post of Governor of a state.
Which of statements given aboye is / are correct? -
a) (i) only & (b)/Both (i).and (ii)
¢) (ii) only d) Neither (i) or (ii)

11. When it comes to the passage of Money Bills; how is the situation in the Union Parliament

different from that in the State Legislature? - R

a) At the Union level, Money Bill can be introduced only in the Lok-Sabha, but at the
state level, it can be introduced either house of state Legislature.

b) The time limit within which the upper house can return a money bill is 14 days, in case
of the Union and one month. in State Legislature,

&) InParliament, there is no provision for joint session in case of Money Bills, but there
can be joint session over:money Bill in State Legislature.

d) None of the above ' '

12.. “Judge of the High Cgun can be impeached on the ground of,
a) Proved misbehaviour - b) Corruption
_OxHigh crimes. (d')’ﬁmergency

13. Nominationﬁwpa'pers shall be subﬁmit:ted with,
_a)yThe Chief Election Commissioner b) The Regional Election Commissioner

¢) The Returning Officer d) None of these

14. 73" Amendment provides establishment of,
a) High courts . _b)Rural local self Government
¢) Lokayukta d) Start ups

A2
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A college student desires to get elected to the Municipal council of his city. The validation
of his nomination would depend on the important condition, among others, that

) He has attained the maturity b) Heis amember of a political party

¢) His name figures in the Voter’s list d) He'is the topper to the class

To declare emergency consent is must.
a) Prime Minister c* b) Cabinet headed by the ane Minister
c¢) Speaker of Lok Sabha . ¥ Chief Justice of the Supreme Court

It is not the effect of State emergency

tate legislature can be dissolyed b)Y President assumes the state executive power
¢) Parliament may make law.over state list ~ d) Effects on state Judiciary

Which of following statements is / are correct in respect of co-operative societies:
i) Part IX-B of the constitution deals. §

i) Right to form a co-operative society is a fundamental under the constitution.

iii) Co-operative societies also mentioned under Directive Principles of state policy
Select the correct answer using the code given here.

a) (i) only b) (ii) only

¢) (i) and (iii) only S (), (ii) and (iii)
What day do countries celebrate as Human Rights Day‘2
a) 1 January v b) 10 December

Y2 March d) 6 June

What does the Internatlonal Bill of Human nghts provide?

a) A list of economic human rights.

b) The rights that all citizens hold . .

¢) A list of indivisible human rights covermg civil and political rights.

—d)"An authoritative list of universal human rights covering civil and political rights and

economic, social and cultural rights.

is the watch dog of human rights in India.

a) High court . b) Parliament
) National Human Rights Commission - ‘ d) None of' these
Engineering Ethics is a,
a) Developing ethics . b) Preventive ethics
¢) Natural ethics ,d‘)/ScientiﬁcalIy developed ethics
For engineering profession .. © is considered as its foundation.
a) Honesty 2 b)-Hard work
¢) Sound common sence vl d) None of these

A compound measure of the probability and magnitude of the adverse effect is known as,
a) Benefit Compensation
¢) Risk S d) Both (a) and (b)

-A3-
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“Trimming’ is,

ytai“ing the entire data b) Consolidating the data
Smoothing of irregularities to make the data to appear accurate and precise

d) All the above

A fault tree is used to, %

a) Access the risk involved " anrove safety

¢) Take free consent d) Claim compensation

The formula of a soft drink is aniéitazrz;lple of,

a) Copyright _by Trade secret

c) Patent . T d) Trade mark

An author retains copyright of his book for,
_&) 25 years - b) 50 years

¢) Life time + 60 years d) '100 years

This is not dishonesty in engineering,

a) Forging /bj/Blending

¢) Cooking d) Trimming .

This is not implement to respons?[%;izl;ity, e

a) Fear Self respect

¢) Self deception d) Ignorance.

* %k K K
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